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Special case :

No matching cost : p
= 0

, I

• Matching function : 8=1
, LH -

_¥,, , 91×1=+1,i

m = [ 1- + ÷ ]
- '

=

# -

÷ + ¥

Solution of the model : Find ,
× / And that

[ i. I;↑sʰ +

¥ ]

I
9*1 = ,,¥×, b/c Tex / = 0

X

(
• = • .

k ,
= •

. -14¥, ʰ+p¥*,]

¥,
= ' + a

⇔ {
" e. a

✓
= • [ h . a +

Ip ( Itn ) ]



⇔ {
" ha

0 = 6. & + Fp ) . x t

%
-

t

0 = b. a
.⇔

{ ✓ ÷ d. a +

¥ .

Is d smaller a layer than he ?
To have a solution

,
amount of series demanded

is less than capacity →

y
D=
%

.

x-p L
ʰ

⇒ • x-p
< 4- a) h

⇒

x-p
< (¥

.ʰ)

= >
d L 6C let ¥ b)

⇒ > < ok + ( tale = h

=/ > eh



Solution of model
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